INSTALLATION INSTRUCTIONS / INSTRUCCIONES DE INSTALACION / INSTRUCTIONS D'INSTALLATION

GThe&ry ALL-IN-ONE MAILBOX & POST COMBO

PARTS / PARTIE / PARTES ADVERTE

= [

Screws / Vis /
Tornillos

P e

(4) #6 x 1 5/8”

Ny 1§

CUSTOMERS ARE REQUIRED TO CONTACT THE LOCAL

POST OFFICE BEFORE INSTALLING THE MAILBOX TO ENSURE

ITS CORRECT PLACEMENT AND HEIGHT AT THE STREET.
GENERALLY, MAILBOXES ARE INSTALLED AT AHEIGHT OF 41-45 IN.
FROM THE ROAD SURFACE TO INSIDE FLOOR OF THE MAILBOX OR
POINT OF MAIL ENTRY (LOCKED DESIGNS) AND ARE SET BACK

6-8 IN. FROM FRONT FACE OF CURB OR ROAD EDGE TO THE
MAILBOX DOOR.

WARNING:

1}

CHECK FOR UNDERGROUND CABLES OR PIPES. |
NCIA: CHEQUE PARA CABLES O TUBOS SUBTERRANEOS.

AVERTISSEMENT: CHEQUE POUR CABLES OU PIPES SOUTERRAINES.

Turn mailbox floor and wrap upside down. Make sure
ach part is facing the correct direction (see imprinted
“front” arrows.) Line up floor and wrap on one side
and insert 3 (#10 x 1”) screws.

Tourner sur parties de boite aux lettres. Etre certain chaque partie

affronte a direction correcte (voit "front" fleches.) Faire la queue
des parties sur un c6té et insérer 3 (#10 x 1”) visse.

Turno sobre partes de buzén. Asegurar cada parte

encarar la direccién correcta (ve "frente" flechas.) g
Linea arriba partes sobre uno lado
y insercion 3 (#10 x 1”) atornilla. g

Position doors in wrap. Squeeze wrap until it lines up
with other side of floor. Secure with 3 (#10 x 1”) screws.

Position les portes dans I'emballage. Serrer I'emballage jusqu'a
lui fait la queue avec autre c6té de plancher. L'insérer
3 (#10 x 17) visse sur autre coté.

Posicién las puertas en la envoltura.
Estrujon la envoltura hasta lo lineas

arriba con otro lado de piso. g
Insercion 3 (#10 x 1)
atornilla sobre otro lado.

Install treated 4x4 post if necessary. Slide post over
4x4 and attach with 4 (#6 x 1 5/8”) screws.

Installer 4x4 poteau si nécessaire.
Glisser poteau sur 4x4 et attacher
avec 4 (#6 x 1 5/8”) vis.

Instalar 4x4 poste si necesario.
Deslizar poste sobre 4x4 y adjuntar
_ con 4 (#6 x 1 5/8”) tornillos.

—
/@
®
e
/@
NOTE: Make sure 4x4 post
® is level.
- TulLy L'ANNOTATION: Etre certain la
®@§V Q& 4x4 poteau est niveau.
N LV LA NOTA: Asegurarel 4x4 poste
l l es es nivel.
<‘> T —_—
? > 207 30"
50.8 - 76.1cm




Slide mailbox assembly onto post assembly until it
shaps into place.

Glisser I'assemblée de boite aux lettres sur assemblée de
poteau jusqu'a lui coups en la position.

Secure with 1 (#10 x 1”) screw.

Glisser couverture de journal sur poteau jusqu'a lui coups en la position.
Attacher avec 1 (#10 x 17) vis.

Deslizar envoltura de periodico sobre el poste hasta lo estallidos en
el lugar. Adjuntar con 1 (#10 x 1”) tornillo.

o Slide newspaper wrap onto post until it snaps into place.

Deslizar asamblea de buzén sobre asamblea de poste hasta lo
estallidos en el lugar.

10 Year Warranty

Solar Group warrants this mailbox and post to be free from
defects in materials and workmanship for a period of ten years
from the date of purchase by the original purchaser.

Solar Group agrees, at Solar Group’s option, either to correct
such defects without charge or to replace the mailbox with a
comparable or superior model if it is returned to Solar Group.

This warranty does not cover any mailbox or post which has
e Attach newspaper door. © been altered or used for a purpose other than that for which it
Attacher porte de journal. % is intended or used in a manner inconsistent with any instructions
: P regarding its use or installation. Defective part(s) and a copy of
Adjuntar puerta de periddico. U / the receipt must be delivered postage paid to the address below.
Solar Group

203 Fellowship Road
Taylorsville, MS 39168

(SOLAR
G EO u plr’]C.

A GIBRALTAR COMPANY

P.O. Box 525
Taylorsville, MS 39168 #GC100055-01




